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Which letter occurs in RUGBY and in BALL? { }
Which fetter oceurs once in PUPIL and once in PRIMARY ? i [y

Which letter occurs once i SCORE and once in UNDERLINE? | i

In the questions below TWO words must change places so that the sentences make sense.
Underline the TWO words that must change places.

Look at this example: The wood was made of table.
My permission has child to go 1o camp,

Any regarding quernies this letter should be sent to my office.
You to advised are bring boots.

The river had flooded the min,

Six letters Iater the weeks arrived.

A, B, C, I and E are five aeroplanes.
E is due EAST of C, C is due EAST of B,
Cis due NORTH of D) and due SOUTH of A.

Which acroplane is furthest WEST? e )
Which acroplane is furthest NORTH? [ - i
Which acroplane is furthest EAST? { !
Which acroplane is furthest SOUTH? = )
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Complete these sequences.

13 12, X0, ZB, 3, { )
4. 27, 26, 24, 21, { —— —
15 2 4 12, 48, { ]
6. 401, 423, 445 467, { )
I7. 4, VI, 2, 2% : 3

Complete these sequences. The alphabet is printed to help you.

ABCDEFGHIJEKLMNOPOQRSTUVWXYZ

15. B, E, G, x i !
19. LG, E, K, K. i )
7. 8 L, W, T. K, o1 Iy
7. U < R A i £ A RS, { ]
2. ZB. YD, XF WH, TSy TS

In each sentence below a word has 3 letters missing. The letters are next to each other and they
spell a word. Write the missing words in the brackets.

Look at this example: Begin sentences with CAAL letters. (P1T)
The complete word is CAPTTAL.

23. The driver FEID his car with diesel. T M |
24, The holiday APMENTS were near the beach, e
25, DED for tickets was so great that we were unable to go. S )
26, Mum always says that Christmas is an EXSIVE time. TR A
27, Good outside LIGHG at night should help to prevent break-ins. =S
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In cach sentence below the letiers of the word in capital letters have been jumbled ap.
Re-arrange the letters to get the correct word.

Look at this example: A NOBRI is a bird. (ROBIN)

RISPA is a capital city in Europe, (i ]
One of the countries in Europe 15 MUGBEIL. { ) Wk
You use a REAMMH to bang in nails. { [
The river MAESHT flows through London. { !
A mechanic vses a RNPSANE to tghten nuts. { —

Colin, Darren, Jill and Janet are four children who each take part in three of the following
four sports: hockey, swimming, goll and badminton. Only Janet does not play goll.
Darren and Janet are the only two children who can swim. Celin, Jill and Janet play hockey.

Which girl can swim? { )
Which boy plays golf but can't swim? { )
What sport does everyone take part in? i )
What sport does Darren not play? { )
Colin plays hockey, badminton and what else? == }

In & certain code CONFIDENTIAL & written as XYPTEWRPSZRO.
Write the following coded words in their proper form.

ORPSZ0 ( : [ 39. PYSRW({_ ) A PERW (

Write the following words in their coded form.

LATE ( 3 } 42 DEAL ( : ) 43 FIDDLE
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In the paragraph below five words aré missing. Choose the most appropriate words from the
lists below, One word from list A fills the space at A, one word from list B fills the space at B
and 5o on,

Underline the words you choose.
Plants are sometimes starved of ( A ) and this causes the plant to go { B ). Most plants necd water (o

grow { C ). Some plants such as the cacti do not receive { I ) water as they live in the desert. Their { E)

skin helps them to save waler.

A 45. B 46, C 47. D 48. E

S0OIL RED Uup GALLONS GREEN
AlR GREEN DOWN MUCH COLD
WATER FLOWERS GREEN COLD PALLE
GRASS OLD STRONG FRESH SLIMEY
POTS BROWMN WEAK MORE SHINY

In a group of five children, Leslie is not as old as Bill or Teddy but is older than Sharon and
Brenda. Sharon is not the voungest and Teddy is not the oldest.
List the children starting with the oldest.

| boCMiclest

| !

N

| _)

{__ b Youngzest
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A FOUR letter word is hidden in each of the sentences below. The hidden words begin at the end
of a word in the sentence and finish at the start of the next word.

Wrile the hidden words in the brackeis

Look at this example:

Time and tide wait for no one. IMEAN)
Put the flask in the bag. = e Y
It rained all over the weekend. R B
. These attacks must stop. MR |||
Light the fire very carefully. { M
The satellite moved in orbit. { )
Do not waste money on me. { )

Each word below can be made into 2 new word by leaving out one letter and without altering in
any way the order of the letters.
Write the letter that can be left out in the brackets.

Look at this example: CLEAN leaveout (_C_ ) gives LEAN

LINIT { i) 6l. HORSE { )
TOY { } i3 SOAK e
SOLDIER i } 3. NOTE { x ]
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The words in each question 66 - 70 can be allocated to one of the groups A - E. The words in the
lists are alike in some way. Write, in the brackets, the letter of the list that each word belongs to.

Look at this example: FRENCH belongs to list (__A_ ) because all the words are nationalities.

66, SENTINEL ( i 67. SWISS [ } o8, CLOG | = i)
o ALERT { ) 0. CONTENT ( )
A B C D E
POLISH TRANQUIL KEEPER SLIPPER VIGILANT
NORWEGIAN QUIET GLUARD SHOE ATTENTIVE
GREEK PEACEFUL CUSTODIAN BOOT CAREFUL
ITALIAN RELAXED WARDEN WADER CONSCIOUS
DUTCH CAREFREE CARETAKER SANDAL COBSERVANT

The word in capitals has three letters missing. The letters that are missing form a three letter word
on their own. Write that three letter word in the brackets.

Look at this example: London is a ital city. {___ CAP__ )

71. A number of words together is a SEN__ CE. { ==t
T2, The man waited ___ IENTLY for his wife. i ]
73. A mountain may have a very high K. i i
74. The sun was ____ DEN by clouds. { )
75. Acellar is BE___ pround level. . { }
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Here are the dates of birth of five people.

A. 29/0T2

Which person is the youngest?

B. 23/11/72

Which person is the oldest?

C. 2713

Which person has a proper birthday every four years?!

Which two people were bom on two conseculive montls,

though in different vears’!

E was bom on a Friday. What day was C born on?

D. 27774

1773

The table helow shows the dates of attendances and number of attendances of children and
adults at Belfast Zoo. A code letter is given for ecach attendance.

TRIP A B C D E
DATE 2NM5M97 236/98 24/5197 21219 12/6/93
NO. OF
ADULTS 201 257 197 183 Z11
NO. OF
CHILDREN 194} 210 205 197 193

Which attendance occurred i winter?

Which two attendances occurred on consecutive days

in the same year?

Cm o which date were there 18 less children than adults

al the zot

Which tnp had most visitors?

Which trip had least visitors?
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